

...

$$m_{ij} = \alpha_i^j m_{i0} \prod_{l=0}^{j-1} y_{il} + \sum_{l=1}^j \left(\alpha_i^{j-l} x_{il} z_{il} \prod_{p=l}^{j-1} y_{ip} \right) f, \quad (4)$$

$$c_{ij} = \beta_i (1 - y_{i,j-1}) \left(\alpha_i^{j-1} m_{i0} \prod_{l=0}^{j-2} y_{il} + \sum_{l=1}^{j-1} \left(\alpha_i^{j-l-1} x_{il} z_{il} \prod_{p=l}^{j-2} y_{ip} \right) f \right) + k_c (1 - x_{ij}) z_{ij} f, \quad (5)$$

$$, \quad \prod_{l=j}^{j-1} a_l \triangleq 1, \quad \sum_{l=j}^{j-1} a_l \triangleq 0, \quad j \in \{0; N\}, \quad a_l -$$

:

$$\beta > k_c, \quad \alpha > 1, \quad y_{i;n-1} \equiv 0. \quad (6)$$

2.

$$\alpha_i, \beta_i, m_{i0}, f, k_c,$$

$$(, \quad y_i = (y_{i0}, \dots, y_{i;n-1}), \quad x_i = (x_{i1}, \dots, x_{in}), \quad i = \overline{1; 2}),$$

:

$$\begin{aligned} & \max \sum_{i=1}^2 C_i(y_i, x_i, z_i) = \\ & = \sum_{i=1}^2 \sum_{j=1}^n \left[\beta_i (1 - y_{i,j-1}) \left(\alpha_i^{j-1} m_{i0} \prod_{l=0}^{j-2} y_{il} + \sum_{l=1}^{j-1} \left(\alpha_i^{j-l-1} x_{il} z_{il} \prod_{p=l}^{j-2} y_{ip} \right) f \right) + k_c (1 - x_{ij}) z_{ij} f \right]. \quad (7) \end{aligned}$$

1.

:

$$m_j = \alpha y_{j-1} m_{j-1}, \quad (8)$$

$$c_j = \beta (1 - y_{j-1}) m_{j-1}, \quad (9)$$

$$C(y) = \sum_{j=1}^n c_j, \quad (10)$$

$$, \quad m_0 - \quad , \quad y = (y_0, \dots, y_{n-1}), \quad 0 \leq y_{j-1} \leq 1, \quad j = \overline{1; n}, \quad C(y)$$

$$y^{\max} = (1, 1, \dots, 1, 0), \quad C(y^{\max}) = \beta \alpha^{n-1} m_0.$$

$$(8) - (10), \quad :$$

$$m_j(y) = \alpha^j m_0 \prod_{l=0}^{j-1} y_l,$$

$$c_j(y) = \beta (1 - y_{j-1}) \alpha^{j-1} m_0 \prod_{l=0}^{j-2} y_l,$$

$$C(y) = \beta m_0 \sum_{j=1}^n \left[(1 - y_{j-1}) \alpha^{j-1} \prod_{l=0}^{j-2} y_l \right]. \quad (11)$$

(11) , (6)
 $y_{n-1} \equiv 0$, $c_n(y)$,
 (n-1)-
 (n-2)- $(1-y_{n-2})\alpha^{n-2}m_0\prod_{l=0}^{n-3}y_l$
 , (n-1)- $\beta(1-y_{n-2})\alpha^{n-2}m_0\prod_{l=0}^{n-3}y_l$.
 (n-1)- A, n- (, A
) $\beta\alpha(1-y_{n-2})\alpha^{n-2}m_0\prod_{l=0}^{n-3}y_l$,
 , $\alpha > 1$ (6),
 $y_{n-2} \equiv 1$.

$$y_j \equiv 1, j = [0, (n-2)].$$

« »:

- [4, 5].

2.

$$(6) \quad m_j = \alpha y_{j-1} m_{j-1} + x_j f, \quad (12)$$

$$c_j = \beta(1 - y_{j-1}) m_{j-1} + k_c(1 - x_j) f, \quad (13)$$

$$C(y, x) = \sum_{j=1}^n c_j,$$

$$x = (x_1, \dots, x_n), \quad y = (y_0, \dots, y_{n-1}), \quad \alpha, \beta, m_0, f, k_c, \quad j = 1, \dots, n,$$

$$C(y, x) \quad x^{\max} = (1, 1, \dots, 1, 0).$$

(12), (13),

$$E_n = \sum_{j=1}^n \left[\beta(1 - y_{j-1}) \alpha^{j-1} m_0 \prod_{l=0}^{j-2} y_l + k_c f \right], \quad h_{jl} = \beta(1 - y_{j-1}) \alpha^{j-l-1} \prod_{p=l}^{j-2} y_p, \quad j = 2..n,$$

$$l = [1; (j-1)],$$

$$C(y, x) = E_n + \sum_{j=1}^n \left(\sum_{l=1}^{j-1} x_l h_{jl} - k_c x_j \right) f. \quad (14)$$

$$C(y, x) = E_n + \sum_{j=1}^n x_j \left(\sum_{l=j+1}^n h_{lj} - k_c \right) f = E_n + \sum_{j=1}^n x_j \left(\sum_{l=j+1}^n \left(\beta(1 - y_{l-1}) \alpha^{l-j-1} \prod_{p=j}^{l-2} y_p \right) - k_c \right) f. \tag{14}$$

$$\sum_{l=n+1}^n h_{ln} \triangleq 0, \quad x_n \equiv 0. \tag{6}$$

$$\sum_{l=j+1}^n \left(\beta(1 - y_{l-1}) \alpha^{l-j-1} \prod_{p=j}^{l-2} y_p \right) > k_c, \quad x_j = 1, \quad j = [1; (n-1)].$$

« »: , , , A, , - , m(t) c(t), (t* - ,) , , (n-1)- 1, 2 , 1 : (7) (y_i^max, x_i^max), y_i^max = (1, 1, ..., 1, 0),

$$x_i^{\max} = (1, 1, \dots, 1, 0). \quad C_i(y_i^{\max}, x_i^{\max}) = \beta_i \left(\alpha_i^{n-1} m_{i0} + \sum_{j=1}^{n-1} \alpha_i^{n-j-1} z_{ij} f \right) + k_c z_{in} f.$$

3.

(3) - (7) i, i, m_{i0}, f, k_c, y_i, x_i, i = 1, 2, (z_i = (z_{i1}, \dots, z_{in})), \sum_{i=1}^2 C_i(y_i, x_i, z_i) (7). z_{1j} \equiv z_j, \quad z_{2j} \equiv 1 - z_j,

$$j = 1, \dots, n, \quad z = (z_1, \dots, z_n),$$

$$D_n = \sum_{j=1}^n \left[\sum_{i=1}^2 \left(\beta_i (1 - y_{i,j-1}) \alpha_i^{j-1} m_{i0} \prod_{l=0}^{j-2} y_{il} \right) + \beta_2 (1 - y_{2,j-1}) \sum_{l=1}^{j-1} \left(\alpha_2^{j-l-1} x_{2l} \prod_{p=l}^{j-2} y_{2p} \right) f + k_c (1 - x_{2j}) f \right],$$

$$g_{jl} = \beta_1 (1 - y_{1j-1}) \alpha_1^{j-l-1} x_{1l} \prod_{p=l}^{j-2} y_{1p} - \beta_2 (1 - y_{2j-1}) \alpha_2^{j-l-1} x_{2l} \prod_{p=l}^{j-2} y_{2p}, \quad (15)$$

$$j = 2..n, l = [1; j-1], \quad :$$

$$\sum_{i=1}^2 C_i(y_i, x_i, z) = D_n + \sum_{j=1}^n \left(\sum_{l=1}^{j-1} z_l g_{jl} + z_j k_c (x_{2j} - x_{1j}) \right) f. \quad (16)$$

$$(16), \quad :$$

$$\sum_{i=1}^2 C_i(y_i, x_i, z) = D_n + \sum_{j=1}^n z_j \left(\sum_{l=j+1}^n g_{lj} + k_c (x_{2j} - x_{1j}) \right) f. \quad (17)$$

$$(15) \quad j \rightarrow l, l \rightarrow j,$$

$$(17) \quad , \quad , \quad (7)$$

$$z_j^{\max} = \begin{cases} 1, & \chi > 0, \\ 0, & \end{cases} ,$$

$$\chi = x_{1j} \left[\beta_1 \sum_{l=j+1}^n \left(\prod_{p=j}^{l-2} y_{1p} \right) (1 - y_{1;l-1}) \alpha_1^{l-j-1} - k_c \right] -$$

$$- x_{2j} \left[\beta_2 \sum_{l=j+1}^n \left(\prod_{p=j}^{l-2} y_{2p} \right) (1 - y_{2;l-1}) \alpha_2^{l-j-1} - k_c \right], \quad j = 1, \dots, n.$$

$$\sum_{l=n+1}^n g_{lj} \triangleq 0, \quad ,$$

$$z_n^{\max} = \begin{cases} 1, & x_{1n} < x_{2n}, \\ 0, & \end{cases} ,$$

;

;

;

$$3. \quad (3) - (6) \quad y_i = y_i^{\max}, \quad i = 1, 2,$$

$$(7) \quad z^* = (z_1^*, \dots, z_n^*),$$

$$z_j^* = \begin{cases} 1, & x_{1j} (\beta_1 \alpha_1^{n-j-1} - k_c) > x_{2j} (\beta_2 \alpha_2^{n-j-1} - k_c), \\ 0, & \end{cases} \quad j = [1; (n-1)].$$

$$(17) \quad , \quad :$$

$$\sum_{i=1}^2 C_i(y_i^{\max}, x_i, z_i) = D_n + \sum_{j=1}^n z_j (g_{nj} + k_c (x_{2j} - x_{1j})) f. \quad (18)$$

(18) , $g_m \triangleq 0$:

$$\sum_{i=1}^2 C_i(y_i^{\max}, x_i, z_i) =$$

$$= D_n + \sum_{j=1}^{n-1} z_j (\beta_1 \alpha_1^{n-j-1} x_{1j} - \beta_2 \alpha_2^{n-j-1} x_{2j} + k_c (x_{2j} - x_{1j})) f + z_n k_c (x_{2n} - x_{1n}) f.$$

3.

(, z_j , A_i)

4. (3) - (6) $y_i = y_i^{\max}$, $x_i = x_i^{\max}$, $i = 1, 2$,

(7) $z^{**} = (z_1^{**}, \dots, z_n^{**})$,

$z_j^{**} = \begin{cases} 1, & \beta_1 \alpha_1^{n-j-1} > \beta_2 \alpha_2^{n-j-1}, \\ 0, & \beta_1 \alpha_1^{n-j-1} \leq \beta_2 \alpha_2^{n-j-1}, \end{cases} \quad j = [1; (n-1)].$ (19)

$x_{1n} = x_{2n} = 0$, z_n , (17),

D_n , $l \rightarrow j$:

$$\sum_{i=1}^2 C_i(y_i^{\max}, x_i^{\max}, z_i) = \sum_{i=1}^2 \beta_i \alpha_i^{n-1} m_{i0} + \left(\beta_2 \sum_{j=1}^{n-1} \alpha_2^{n-j-1} + k_c \right) f + \sum_{j=1}^{n-1} z_j (\beta_1 \alpha_1^{n-j-1} - \beta_2 \alpha_2^{n-j-1}) f.$$

4.

$$\sum_{i=1}^2 C_i(y_i^{\max}, x_i^{\max}, z_i^{**}).$$

$\alpha_{i_1} < \alpha_{i_2}$, $\beta_{i_1} < \beta_{i_2}$:

$\sum_{i=1}^2 C_i(y_i^{\max}, x_i^{\max}, z_i^{**}) = \sum_{i=1}^2 \beta_i \alpha_i^{n-1} m_{i0} + \left(\beta_{i_2} \sum_{j=2}^{n-1} \alpha_{i_2}^{n-j-1} + k_c \right) f.$ $\beta_{i_1} \alpha_{i_1} < \beta_{i_2} \alpha_{i_2}$,

$\beta_{i_1} > \beta_{i_2}$: $\sum_{i=1}^2 C_i(y_i^{\max}, x_i^{\max}, z_i^{**}) = \sum_{i=1}^2 \beta_i \alpha_i^{n-1} m_{i0} + \left(\beta_{i_2} \sum_{j=2}^{n-2} \alpha_{i_2}^{n-j-1} + \beta_{i_1} + k_c \right) f .$

$\alpha_{i_1} < \alpha_{i_2}$, $\beta_{i_1} \alpha_{i_1} \geq \beta_{i_2} \alpha_{i_2}$. j^* -
 $\beta_{i_1} \alpha_{i_1}^{n-j} \geq \beta_{i_2} \alpha_{i_2}^{n-j}$.

(19)

$$\sum_{i=1}^2 C_i(y_i^{\max}, x_i^{\max}, z_i^{**}) = \sum_{i=1}^2 \beta_i \alpha_i^{n-1} m_{i0} + \left(\beta_{i_2} \sum_{j=2}^{j^*-1} \alpha_{i_2}^{n-j} + \beta_{i_1} \sum_{j=j^*}^n \alpha_{i_1}^{n-j} + k_c \right) f .$$

α_{i_2} α_{i_1} j^*
 $n.$ $\beta_i \alpha_i$ « »
 $\beta_i \alpha_i^j$ α —
 »

N.V. Hrom, N.V. Semenova

PASSIVE COOPERATION OF TWO TWO-PRODUCT EVOLUTIONAL SYSTEMS UNDER EXTERNAL INFLUENCE MODELING

In the article, a behavior of two two-product passively cooperating evolutionary systems is described in terms of discrete optimization. In order to find an optimal distribution of external resources during the modeling time under given internal resources distribution, three auxiliary optimization problems and four theorems are solved and proved. The results obtained conform to the V. Glushkov «Law of systems reasonable egoism» for the models described by Volterra integral equations.

1. ... , 1983. 350 .
2. 2013. 6. . 49–53.
3. 2012. . 48, 6. . 114–121.
4. Girlin S., Ivanov V. Mathematical Theory of Development. A Course of Lectures: ... : « ... », 2014. 140 .
5. Girlin S., Bugerko N. Three Laws of Optimal Development [...]. *International Journal of Applied and Fundamental Research*. – 2014. <http://www.science-sd.com/457-24536>.
6. VIII - : « ... ». , 26.09 – 01.10. 2016. . 98 – 99.
7. ... : ... , 2009. 266 .

07.11.2017

Про авторів:

... ,
 -mail: hrom.nv@gmail.com

... ,
 -mail: nvsemenova@meta.ua